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) SERMO TinICHEET 51 aER A
ﬁg TREOBBOEILHIOKRES TEFEDOHBEILHNOKRES TREOBBOSILEIDOKRES TREOHBSSLNDKRES
7 100kN/mM%EBZ 5 - -~ - -|3mEFBZD -~ - -] 100kN/ Mm% % % - -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 4.59 5721 | #nS | 000 ~ 459 | 1.88 9.52 st 1.00 | 5.00 ~ 5.00 57.21 | =hs | 6.00 ~ 6.00| 1.88 9.52
2 100kN/mM%BZ 5 - -~ - -|3mEFBZD -~ -] 100kN/ Mm% % % -~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 6.13 76.96 | FnLS | 0oo ~ 613 1.89 9.66 Thst 1.00 | 5.00 ~ 740 76.96 | TN | 6,00 ~ 7.40| 1.89 9.56
3 100kN/m%E#BZ5 | 1.00| 000 ~ 036 10525 |3mEHBZD ~ -| 100kN/M%#82% | 1.00 | 1054 ~ 1150 10525 |3m%iBZ% -~ - - -
s 1.00 | 0.536 ~ 814 100.00 | #nst | 0oo ~ 814 | 221 11.17 st 1.00 | 6.00 ~ 1054 100.00 | =hLSt | 6.00 ~ 1150 2.21 11.17
4 100kN/m%E#Z5| 100|000 ~ 028 10406 |3mE#Ez5 ~ -| 100kN/M%#82% | 1.00 | 1055 ~ 11.30| 104.06 |3m%iBZ% -~ - - -
s 1.00 | 0.28 ~ 806 100.00 | #nLSy | 000 ~ 806|216 10.90 Thst 1.00 | 6.00 ~ 1055 100.00 | =nLSY | 6.00 ~ 1130)| 2.16 10.90
5 100kN/mM%EBZ 5 - -~ - -|3mEFBZD ~ -] 100kN/ Mm% % % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 7.45 95.09 | =S | 000 ~ 0.00| 1.75 8.85 Thlst 1.00 | 5.00 ~ 9.70 95.09 | Ths | 6.00 ~ 9.70| 1.76 8.85
P 100kN/mM%#BZ 5 - -~ - -|3mEFBZD ~ -] 100kN/m#%#8Z% % ~ -|3mZEiBZ D -~ - - -
s 1.00 | 0.00 ~ 6.74 85.11 | =St | 000 ~ 674 | 1.79 9.07 Thist 1.00 | 5.00 ~ 820 85.11 | =hs | 6.00 ~ 820 1.79 9.07
- 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhnLst 1.00 | 0.00 ~ 622 7806 | ThLS | 000 ~ 000 | 1.74 8.80 zhs 1.00 | 6.00 ~ 7.20 7806 | ThLS | 600 ~ 720 1.74 8.80
3 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
zhnLst 1.00 | 0.00 ~ 4.73 5894 | =ns | 000 ~ 4.73| 1.89 9.563 zhs 1.00 | 6.00 ~ b6.20 5894 | #hst | 5,00 ~ 620\ 1.89 9.53
9 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3mEEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 488 60.86 | st | 0oo ~ 488|202 10.20 zhst 1.00 | 6.00 ~ 6.00 60.86 | Tn4S | 6.00 ~ 6.00] 2.02 10.20
10 100kN/ Mm% Z 5 - -~ - -|3mEEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
ThnLst 1.00 | 0.00 ~ 317 40.55 | =ns | 000 ~ 317)| 2.46 12.45 Fhst 1.00 | 6.00 ~ 6.50 40.65 | =hS | 5,00 ~ 6.50 | 2.46 12.45
11 100kN/ Mm% Z 5 - -~ - -|3mEBZD ~ -| 100kN/mi%#8Z % ~ -|3m#EEZ S -~ - - -
ThLst 1.00 | 0.00 ~ 6.67 70.84 | TR | 000 ~ 000\ 1.57 7.91 zhst 1.00 | 6.00 ~ 6.90 70.84 | ThLS | .00 ~ 690 1.57 7.91
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ ZzhLst ~ ZzhLst ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
Ths ~ st ~ ZhLst ~ zhs ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%EHBZ 5 ~ ImERZD ~
Ths ~ st ~ st ~ zhs ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImERZD ~
zhst ~ ZhnLst ~ ZhnLst ~ zhs ~




